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substrates

run 1 (no markers)
oxidation pressure:
oxidation time:
oxidation process:

run 4 (with markers)
oxidation pressure:
oxidation time:
oxidation process:
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substrates

junctions # 5 A 1 short p) 3 5
array ID Li1/R1 | L2/R2 | L3/R3 pWARYA 15/R5 | L6/R6 | L7/R7
series Rpar 110/250 [138/250 |222/250 194/250 166/250 | 110/250




the measurement

~2h / substrate




Substrate #07




resistance correction

® Without correction
# With correction

The correction works!

But some devices (A,D,E) show sparse
low resistances. In addition,

and some of its arrays
(R1, R2, R3) show open circuit properties.

[l correction >

Mean Resistance [Q]
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resistance correction

® Without correction
# With correction

The correction works!

Mean Resistance [Q]

But some devices (A,D,E) show sparse
low resistances. In addition,

and some of its arrays
(R1, R2, R3) show open circuit properties.
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Substrate 07 - Fit

Substrate 07 - Fit
—_ fit

data
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Substrate 07

substrate gradients

Both the gradients are descending. X
The wide dispersions are due to the faulty arrays.

Substrate 07 - Resistance VS Y position Substrate 07 - Resistance VS X position
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average resistance

Substrate #07

3.06Q

‘ 25.88 0 (11.84.%)
3.16 Q

25.88 L (12.20%)
25.89 O, 2D 0

(11.39%)

Substrate 07 - Fit L type junctions

1=25.88+0.09
0=134%0.09
FWHM =316 +0.21
=1220+081%
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Substrate 07 - Fit R type junctions
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Substrate #11




Substrate 11

resistance correction e

& With correction

The correction works!

Mean Resistance [Q]

But the seem to
have a very wide distribution...
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Substrate 11

resistance correction e

& With correction

=
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The correction works!

Mean Resistance [Q]

But the arrays with 3 junctions seem to
have a very wide distribution...
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Substrate 11 - Fit

u=1175*0.03

u=1146%0.01
0=0.54%003 " 0=0.38%0.01
FWHM=1.26%0.08 Correctlon FWHM=0.90 £0.03
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the 1.6 problem

In details, we observe that the |.© triple junction
arrays show a way higher resistance value.

We can point out this anomaly also studying the
of the substrate.

(This is the corrected plot that highlights the
difference shifting the offsets of the lines)
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Substrate 11 (corrected) R vs L
T ® Rjunctions
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substrate gradients

Both the gradients are slightly descending.

Substrate 11 - Resistance VS Y position
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Substrate 11

Substrate 11 - Resistance VS X position

15 20
X position [a.u.]

14



average resistance

type R

The small amount of counts in the
of the distribution are caused
by the left component (more precisely

by 1.6).

Substrate #11
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0.81 Q)
11.40 Q (7.08%)

Substrate 11 - Fit L type junctions

©=1154+0.02
0=0.40£0.03
FWHM=0.95 £0.06
=823+052%

©u=1146+0.01
0=0.38%0.01
FWHM=0.90 +0.03
=7.83+0.24%

Substrate 11 - Fit R type junctions
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substrates comparison

The substrate #07:
~26 Q ~11Q

more broadened resistance distribution
steeper descending gradient

With respect to the substrates #02 and #05:
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substrates comparison

With respect to the substrates #02 and #05:

he L and R resistances are equally distributed around the same
substrate-average-value.
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substrates comparison

With respect to the substrates #02 and #05:

a steeper gradient on y direction

Substrate 02 - Resistance VS Y position Substrate 07 - Resistance VS Y position
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substrates comparison

With respect to the substrates #02 and #05:

a gradient on
the x direction which is now shared by both L and R type of junctions.

Substrate 05 - Resistance VS X position Substrate 11 - Resistance VS X position
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Backup slides




Substrate 07 - 5 junctions
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Substrate 07 - 2 junctions
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Substrate 07 - 4 junctions

40
35| W=2523 u=25.15
21 o0=333 0=4.03
30  FWHM=3106% FWHM = 37.75 %
251 - Alls
204 Latnd B B
=1 R2

15 -
10 -
05
0.0 -

15 20 5 30 35

RIQ]
Substrate 07 - 3 junctions
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Substrate 07 - 1 junctions
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Counts

Counts

Substrate 11 - 5 junctions

p=1121 p=1135
=028 0=0.25
FWHM = 5.86 % FWHM = 5.25 %
= Al s
=t fel |
~oIR1
T T T T T
6 8 10 12 14 16
RIQ]
Substrate 11 - 2 junctions
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Substrate 11 - 4 junctions
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Substrate 11 - 1 junctions

8 4
;| w=1189 u=1158
1 o=o083 0=0.53
6| FWHM=1649% FWHM = 10.80 %
51 = Al s
4 eth R
—I1R3
34
2 4
1 o
0 - :
6 8 10 12 14 16
RIO]
Substrate 11 - 5 junctions
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